

## OFFICE of ADMINISTRATION

## **FACILITIES MANAGEMENT, DESIGN AND CONSTRUCTION**

Home Facilities Operations Real Estate Services Project Management

## DEPARTMENT OF HEALTH AND SENIOR SERVICES

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Audrain	00402424	6/30/2017	\$1,780.00	\$10.00	178	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	4690 South Clark Street	Mexico	SOUTHERN DEVELOPMENT OF MS INC
Barry	00500450	6/30/2020	\$1,524.90	\$7.82	195	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	208 East 8Th Stree	t Cassville	STEHLIK, HERSCHEL
Benton	88600802	6/30/2017	\$576.40	\$6.86	84	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1661 Hilltop Dr	Warsaw	REESE PROPERTIES, LLC
Bollinger	00900384	6/30/2020	\$811.79	\$8.12	100	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	602 Highway 34 West	Marble Hill	IVEY PROPERTIES LLC
Boone	01011545	6/30/2023	\$97,807.50	\$15.75	6210	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	900 West Nifong	Columbia	BOONE COUNTY HOSPITAL
Buchanan	01100335	7/31/1996	\$5,857.65	\$0.00	0	Parking	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	6Th & Jules	St Joseph	CITY OF ST JOSEPH
Butler	01200374	6/30/2020	\$21,259.04	\$10.34	2056	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	1903 Northwood Dr	Poplar Bluff	TLP & ASSOCIATES INC
Butler	01200374	6/30/2020	\$21,269.38	\$10.34	2057	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1903 Northwood Dr	Poplar Bluff	TLP & ASSOCIATES INC
Butler	01201167	6/30/2020	\$39,386.50	\$9.25	4258	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	2153 And 2155 North Westwood	Poplar Bluff	PBSH LIMITED LC
Caldwell	01300842	6/30/2017	\$1,312.36	\$8.75	150	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	400 W Berry	Hamilton	WOESTMAN PROPERTIES LLC
Callaway	88601402	6/30/2016	\$4,425.00	\$8.85	500	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	108 North Hospital Drive	Fulton	INGRAM LEASING INC

Thursday, April 20, 2017 Page 1 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Camden	01500882	6/30/2017	\$10,200.25	\$10.78	946	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	146 Rodeo Road	Camdenton	LOZ INVESTMENTS
Cape Girardeau	01602571	6/30/2019	\$72,804.60	\$9.90	7354	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	471 Siemers Drive	Cape Girardeau	DSW DEVELOPMENT CORPORATION
Carter	01801075	6/30/2017	\$1,346.28	\$8.74	154	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	Hcr 2 Box 2270	Van Buren	WOESTMAN PROPERTIES LLC
Cass	98701902	6/30/2017	\$3,000.00	\$10.00	300	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	836 North Scott Avenue	Belton	WOESTMAN PROPERTIES LLC
Cedar	02000534	12/31/2017	\$1,273.57	\$9.23	138	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	112 Rb Road	Stockton	WOESTMAN PROPERTIES LLC
Chariton	02100132	6/30/2017	\$2,405.18	\$9.98	241	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	121 East Jackson	Keytesville	SWARTZ, JERRY J
Clark	02300252	6/30/2017	\$1,710.00	\$9.50	180	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	320 West Main Street	Kahoka	HBC PROPERTIES LLC
Clay	02400884	6/30/2021	\$15,613.95	\$9.20	1697	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	7000 Liberty Dr	Liberty	FRANK JOSEPH CORPORATION
Cole	02600142	6/30/2017	\$22,020.00	\$7.34	3000	Office	HEALTH & SENIOR SERVICES-LEAS	OFFICE OF THE DIRECTOR	930 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600142	6/30/2017	\$418,380.00	\$7.34	57000	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	930 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600327	6/30/2017	\$107,788.24	\$7.49	14400	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	920 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600327	6/30/2017	\$341,329.41	\$7.49	45600	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	920 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600482	6/30/2020	\$186,399.71	\$9.11	20461	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600713	6/30/2017	\$125,779.50	\$9.90	12705	Office	HEALTH & SENIOR SERVICES-LEAS	OFFICE OF THE DIRECTOR	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$70,290.00	\$9.90	7100	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC

Thursday, April 20, 2017 Page 2 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Cole	02600713	6/30/2017	\$7,395.30	\$9.90	747	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$107,286.30	\$9.90	10837	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$59,192.10	\$9.90	5979	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02602239	12/31/2017	\$1,158.30	\$4.05	286	Warehouse	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	02602364	12/31/2017	\$36,752.12	\$2.53	14553	Warehouse	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	88702602	12/31/2002	\$539.78	\$0.00	0	Parking	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	319 Broadway St	Jefferson Cty	TETTLEBAUM, HARVEY M
Crawford	02800881	6/30/2019	\$700.02	\$7.00	100	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	272 Cushing Road	Steelville	COURTOIS, HAROLD
Dallas	03000392	6/30/2018	\$2,747.20	\$10.10	272	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	719 N Ash St	Buffalo	DE LA PIEDRA PROPERTIES INC
Dekalb	03201609	6/30/2020	\$39,201.20	\$9.20	4261	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	207 E Mcelwain Dr	Cameron	DE LA PIEDRA PROPERTIES INC
Dent	03301073	6/30/2015	\$3,321.65	\$9.25	359	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	800 West Scenic Rivers Blvd	Salem	WOESTMAN PROPERTIES LLC
Dunklin	03500618	6/30/2019	\$17,291.25	\$7.95	2175	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1100 Hwy 25 S By- Pass	Kennett	PBSH LIMITED LC
Franklin	03600261	6/30/2019	\$3,371.80	\$7.33	460	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	#1 Liberty Plaza	Union	LIBERTY PLAZA PARTNERSHIPS
Greene	03900710	6/30/2017	\$35,428.46	\$0.00	0	Parking	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	305 W Olive, 405 W Olive	Springfield	CITY OF SPRINGFIELD
Grundy	04001169	6/30/2017	\$6,351.50	\$8.17	777	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	2926 Oklahoma	Trenton	SWARTZ, JERRY J
Harrison	04100383	6/30/2017	\$1,517.47	\$8.62	176	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	2403 Vandivert	Bethany	SWARTZ, JERRY J

Thursday, April 20, 2017 Page 3 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Henry	04200799	6/30/2020	\$11,349.00	\$9.00	1261	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1661 North 2Nd Street	Clinton	CLINTON SASAK PLAZA LLC
Hickory	04300619	6/30/2017	\$1,458.00	\$9.00	162	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	Dallas & Oak Streets	Hermitage	WOESTMAN PROPERTIES LLC
Howell	04600620	6/30/2021	\$3,393.40	\$9.40	361	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	3415 And 3417 Division Dr	West Plains	RICK HOOVER PROPERTIES LLC
Iron	04700834	6/30/2018	\$1,087.32	\$6.63	164	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	202 Park Drive	Ironton	HEDGEAPPLE MANAGEMENT LLC
Jackson	04800934	6/30/2019	\$109,707.00	\$14.50	7566	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	3717 S. Whitney Way	Independence	MARIE ALLEN ENTERPRISES LLC
Jackson	04800934	6/30/2019	\$11,774.00	\$14.50	812	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	3717 S. Whitney Way	Independence	MARIE ALLEN ENTERPRISES LLC
Jackson	04800934	6/30/2019	\$64,699.00	\$14.50	4462	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	3717 S. Whitney Way	Independence	MARIE ALLEN ENTERPRISES LLC
Jasper	04901047	6/30/2017	\$2,562.50	\$10.25	250	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1110 7Th Street	Joplin	JOPLIN PROPERTIES LLC
Jasper	04901395	6/30/2017	\$8,773.46	\$10.15	864	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	1110 7Th Street Suite 12	Joplin	JOPLIN PROPERTIES LLC
Jasper	04901395	6/30/2017	\$17,232.13	\$10.15	1697	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1110 7Th Street Suite 12	Joplin	JOPLIN PROPERTIES LLC
Jasper	04901395	6/30/2017	\$4,234.41	\$10.15	417	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	1110 7Th Street Suite 12	Joplin	JOPLIN PROPERTIES LLC
Jefferson	05001407	6/30/2020	\$58,242.62	\$11.70	4978	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	3675 West Outer Road	Arnold	DLJ CROSS CREEK LLC
Jefferson	88605002	6/30/2018	\$2,925.00	\$9.75	300	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	10325 Business 21	Hillsboro	WOESTMAN PROPERTIES LLC
Johnson	05100004	6/30/2020	\$4,825.57	\$9.23	523	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	505 N.Ridgeview	Warrensburg	HERITAGE VILLAS LLC
Laclede	05300360	6/30/2016	\$2,223.00	\$9.26	240	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	2639 S Jefferson	Lebanon	DE LA PIEDRA PROPERTIES INC

Thursday, April 20, 2017 Page 4 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Lafayette	05400024	6/30/2016	\$4,474.38	\$7.61	588	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	736 State Route 13	Lexington	HILLHOUSE, DENNIS
Lawrence	05501689	6/30/2019	\$932.73	\$6.22	150	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	25 And 27 West Locust Street	Aurora	GEORGE, SHERRI
Lincoln	05700659	6/30/2018	\$4,473.60	\$9.60	466	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	384 North Lincoln Drive	Troy	CANNON HALL PROPERTIES LLC
Linn	05800371	6/30/2018	\$781.04	\$7.51	104	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	103 Forest Drive	Brookfield	HILLHOUSE, DENNIS
Livingston	05900810	6/30/2020	\$1,185.05	\$8.65	137	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	601 West Mohawk	Chillicothe	DANIEL MIKOS AND JEANNETTE
Mcdonald	06001304	6/30/2017	\$1,809.83	\$11.04	164	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	928 North Highway 71 (P&P)	Anderson	CORCORAN, ERIC
Macon	06100821	6/30/2020	\$39,321.00	\$9.00	4369	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1716-1718 N. Prospect	Macon	CATHERINE M. KOLB
Madison	06201012	6/30/2016	\$1,296.00	\$8.00	162	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	413 Burris	Fredricktown	FIREBAUGH, GERALD E
Miller	06600815	6/30/2019	\$864.00	\$9.00	96	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	6 South Industrial Park	Eldon	AM-RB INVESTMENTS LLC
Mississippi	06700060	12/31/2013	\$6,211.38	\$9.97	623	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	718 North Martin	East Prairie	WOESTMAN PROPERTIES LLC
Morgan	07101874	6/30/2015	\$696.00	\$5.80	120	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	203 Highway 5	Versailles	EHRHERDT, ALVIN
New Madrid	07201765	6/30/2018	\$3,247.57	\$7.55	430	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	350 Us Hwy 61 South	New Madrid	WEEKS RENTALS LLC
Newton	07301297	6/30/2017	\$2,680.48	\$9.24	290	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	201 North Washington Street.	Neosho	EDWARDS, PHILIP T
Nodaway	07400396	6/30/2021	\$2,887.50	\$8.75	330	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	301 Summit Drive	Maryville	PALR LLC
Oregon	07500836	6/30/2016	\$1,120.00	\$7.00	160	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	Highway 19 South	Alton	FERGUSON, ARTHUR H

Thursday, April 20, 2017 Page 5 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Osage	07602553	6/30/2018	\$14,880.95	\$7.14	2083	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	63 Progress Lane	Linn	NORTHERN LIGHTS DEVELOPMENT CO
Pemiscot	88607802	6/30/2018	\$14,992.00	\$9.37	1600	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	911 Hwy 84	Caruthersville	BONNIE Z, LLC
Perry	07900549	6/30/2018	\$2,516.80	\$11.44	220	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	12 East Wichern Rd	Perryville	H&H COMPANIES
Pettis	08000889	6/30/2018	\$12,260.00	\$10.00	1226	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	808 Westwood	Sedalia	SCOTT L HILL
Phelps	08100731	6/30/2022	\$7,967.64	\$8.04	991	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	1101-1111 Kingshwy	Rolla	MACO MANAGEMENT
Pike	08201307	6/30/2017	\$5,757.07	\$7.37	781	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1610 Business 54 West	Bowling Green	INGRAM LEASING INC
Platte	08300375	6/30/2023	\$1,100.00	\$11.00	100	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	233 Marshall Road	Platte City	MARTIN HOUSE REALTY INC
Pulaski	08500385	6/30/2019	\$2,147.60	\$9.10	236	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	712 Historic 66 West	Waynesville	DE LA PIEDRA PROPERTIES INC
Randolph	08800204	6/30/2017	\$6,528.60	\$8.06	810	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1715 S Morley	Moberly	SWARTZ, JERRY J
Ray	08901088	6/30/2021	\$828.00	\$9.00	92	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	902 Lexington	Richmond	HILLHOUSE, DENNIS
Ripley	09100890	6/30/2015	\$6,265.45	\$8.41	745	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	Route 2 Box 1143	Doniphan	WOESTMAN PROPERTIES LLC
St Charles	99909201	6/30/2019	\$17,744.44	\$8.89	1996	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	3737 Truman Blvd	St Charles	CAVE SPRINGS PARTNERSHIP
St Francois	09401014	6/30/2018	\$15,768.52	\$9.76	1616	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	140 Staples Dr	Park Hills	PARK HILLS OFFICE PARK LLC
Saline	09700812	6/30/2017	\$14,042.25	\$11.07	1269	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1239 Sante Fe Trail	Marshall	WOESTMAN PROPERTIES LLC
Scott	10001298	6/30/2014	\$22,420.75	\$9.85	2277	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	106 Arthur Dr	Sikeston	PBTA LC

Thursday, April 20, 2017 Page 6 of 7

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Stoddard	10301015	6/30/2018	\$8,405.77	\$8.84	951	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1003 Wildwood Dr	Dexter	PBSH LIMITED LC
Taney	10601280	6/30/2012	\$2,986.36	\$9.13	327	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	2720 Shepherd Of The Hills	Branson	PBTA LC
Texas	10701017	6/30/2015	\$6,496.20	\$8.10	802	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	16798 Oak Hills Drive	Houston	SWARTZ, JERRY J
Vernon	10801184	6/30/2019	\$3,172.11	\$9.67	328	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	621 East Highland	Nevada	MCKINNEY INVESTMENT PROPERTIES
Warren	10901306	6/30/2018	\$2,290.00	\$10.00	229	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	513 West Booneslick	Warrenton	LMD ASSOC LLC
Washington	11001018	6/30/2018	\$4,414.08	\$7.26	608	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	10235 W State Hwy E	Potosi	COURTOIS, HAROLD
Wayne	11101087	12/31/2012	\$2,657.88	\$8.28	321	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	Hwy 49 Route 2 Box 26351	Piedmont	FERGUSON, ARTHUR H
Wright	11401303	6/30/2021	\$10,637.99	\$10.32	1031	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	1801 N. Talcott	Mountain Grove	SWARTZ, JERRY J
St Louis City	11501724	10/19/2035	\$188,735.28	\$11.98	15758	Office	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	815 Olive Street	St Louis	ST LOUIS US CUSTOM HOUSI AND
St Louis City	11501808	12/31/2012	\$56,862.21	\$0.00	0	Parking	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	911 Olive Street	St Louis	ST LOUIS PARKING COMPANY

Thursday, April 20, 2017 Page 7 of 7